## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Enrollment - March)

1 RESOLUTION NO. 97-078 2 3 O'odham Council has reviewed Tohono WHEREAS. the 4 recommendations of the Enrollment Committee in 5 accordance with Section I of Article VIII of the Enrollment 6 7 Ordinance, Ordinance No. 05-81, and has made a final 8 determination that the application of the following 9 applicants for membership in the Tohono O'odham Nation 10 be approved: 11 ARTICLE II - MEMBERSHIP 12 SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS 13 THORPE, Monica M. 3141-B-96 14 BOJORQUEZ, Selena N. 3223-B-97 15 **KEKAUOHA**, Noel 3224-B-97 KEKAUOHA, Jade K. 3225-B-97 16 KEKAUOHA, Wesley K. 3226-B-97 17 3227-B-97 **BURSEY**. Amanda M. BURSEY, Christopher R. 3228-B-97 18 19 CARDENAS. Valerie A. 2247-CK-93 CARDENAS, Veronica R. 2248-CK-93 20 2376-CK-95 **MOLINA**, Maclovia A. 21 CHILTON, Troy D. 3185-GA-96 22 ZEPEDA, Elena J. 3213-GA-97 **SOTELO, Gabriel R.** 3215-GA-97 23 24 **CELAYA**, Emmanuel 1698-GV-95 **CELAYA. Francisca** 1699-GV-95C 25 **CELAYA**, Javier A. 1700-GV-95 26 CELAYA, Mayra L. 1701-GV-95 SALCIDO, April E. 1794-GV-97 27 MENDEZ, Joshua J. 1795-GV-97 28

## RESOLUTION NO. <u>97-078</u> (Enrollment - March) Page 2 of 5

1

| 2   | ARTICLE II - ME        |                                     |
|-----|------------------------|-------------------------------------|
| 3   | SECTION I(b) AL        | L CHILDREN BORN TO RESIDENT MEMBERS |
| 4   | 1796-GV-97             | GONZALES, Daniel J.                 |
| 5   |                        |                                     |
| 6   | 1766-H-97              | MANUEL, Tyrone Nixon                |
|     | 1765-H-97              | GARCIA, Manuel Orlando              |
| 7   | 1220 D 04              | DOV Jamed                           |
| 8   | 1230-P-84              | ROY, Jarrod<br>MANUEL, Olin Francis |
|     | 1285-P-86              | LEE, Tasheena Frances               |
| 9   | 1519-P-90<br>1760-P-97 | CAZARES, Antonio D.L.               |
| 10  | 1761-P-97              | CHILTON, Jame'e                     |
|     | 1761-P-97<br>1762-P-97 | BRUCE, William D., III              |
| 11  | 1763-P-97              | SAM, Nizhoni                        |
| 12  | 1703-1-37              | Silve, Ivezitoria                   |
|     | 1554-GB-97             | <b>CARMELLO, Shawn Hadley</b>       |
| 13  | 1555-GB-97             | MANUEL, Marco F.                    |
| 14  | 1438-GB-96             | PENA, Christina Marie               |
|     | 1561-GB-97             | LEATHERWOOD, Michael A.             |
| 15  |                        |                                     |
| 16  | 1459-SX-88             | ANDERSON, Crystal L.                |
|     | 1460-SX-88             | ANDERSON, Leon P.                   |
| 17  | 1833-SX-97             | PARK, Stefan D.                     |
| 18  | 1834-SX-97             | BEGAY, Angelo                       |
| 19  | 1511-ST-97             | CONDE, Jenson E.                    |
| 20  | 1512-ST-97             | SIERRA, Marina Marie                |
|     | 1513-ST-97             | LOMAS, Angeline                     |
| 21  |                        |                                     |
| 22  | 3061-S-88              | LUCAS, Daniel Jr.                   |
|     | 3851-S-96              | CRAWFORD, Patrick                   |
| 23  | 3900-S-97              | VILLA, Fernando J. III              |
| 24  | 3901-S-97              | MOLINA, Anthony Isaiah              |
|     | 3902-S-97              | MOLINA, Cynthia                     |
| 25  | 3903-S-97              | WILLIAMS, Jordyn Kelli              |
| 26  | 3904-S-97              | HOLBROOK, Logan N.                  |
|     | 2017 50 07             | DADIO Torvo E                       |
| 27  | 2017-80-97             | PABLO, Tonya F.                     |
| 1.1 |                        |                                     |

RESOLUTION NO. <u>97-078</u> (Enrollment - March) Page 3 of 5

NOW, THEREFORE, BE IT RESOLVED that it hereby determined that the above named applicants are eligible for enrollment as members of the Tohono O'odham Nation under Section I(a) or (b) of Article II of the Constitution of the Tohono O'odham Nation, and that their applications are approved, as herein above indicated.

BE IT FURTHER RESOLVED that the Chairman and other appropriate officers of the Tohono O'odham Nation reduce this final determination in writing regarding each of the foregoing applications for enrollment in accordance with Section 3(c) of Article III of the Enrollment Ordinance; give notice of this Council's determination in accordance with Section 4 of Article III of the Enrollment Ordinance; and place the names of each applicant upon the membership roll of the Tohono O'odham Nation in accordance with Article V of the

The foregoing Resolution was passed by the Tohono O'Odham Legislative Council on the <u>3RD</u>. day of <u>MARCH</u>, <u>1997</u> at a meeting at which a quorum was present with a vote of <u>1,876.0 FOR</u>; <u>-0- AGAINST</u>; <u>-0- NOT VOTING</u>; and <u>[06] ABSENT</u>, pursuant to the powers vested in the Council by Section <u>1</u> of Article II and Section <u>1(h)</u> of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).

**Enrollment Ordinance.** 

|    | (Enrollment - March)   |
|----|--|
| 1  | Page 4 of 5  |
| 2  | TOHONO O'ODHAM LEGISLATIVE COUNCIL   |
| 3  | $\Omega$   |
| 4  | Dan 12   |
| 5  | Dennis Ramon, Legislative Chairman   |
| 6  | 4 th day of March , 19 97  |
| 7  | ATTEST:  |
| 8  |  |
| 9  | Frances G. Antone, Legislative Secretary   |
| 10 | Frances G. Antone, Legislative Secretary   |
| 11 | 4th day of marce , 1997.   |
| 12 | Said Resolution was submitted for approval to the office of the Chairman                             |
| 13 | of the Tohono O'Odham Nation on the 4th day of March,  |
| 14 | 19 $\frac{97}{}$ at $\frac{2.04}{}$ o'clock, $\frac{P}{}$ .M., pursuant to the provisions of Section |
| 15 | 5 of Article VII of the Constitution and will become effective upon his                              |
| 16 | approval or upon his failure to either approve or disapprove it within 48 hours of submittal.        |
| 17 | TOHONO OLOBHAM I FOIGI ATIVE COLINGIA  |
| 18 | TOHONO O'ODHAM LEGISLATIVE COUNCIL   |
| 19 | 2  |
| 20 | Dennis Ramon, Legislative Chairman   |
| 21 |  |
| 22 | All the 1  |
| 23 | APPROVED on the 5 day of March, 1997   |
| 24 | [ ] DISAPPROVED at 2:45 o'clock, \( \begin{aligned} \text{\pi} \] .M.                                |
| 25 | 90 n 0   |
| 26 | Munkellande  |
| 27 | EDWARD D. MANUEL. Chairman   |

**TOHONO O'ODHAM NATION** 

**RESOLUTION NO. 97-078** (Enrollment - March)

Page 5 of 5 Returned to the Legislative Secretary on the \_\_\_\_\_\_ day of \_\_\_\_\_, 19<u>97</u>, at <u>5.'00</u> o'clock, <u>P</u>.M. Frances G. Antone, Legislative Secretary 

**ACTION:** 

**ENROLLMENT - MARCH** 

MOVED:

COUNCILWOMAN FERN SALCIDO

SECOND: VICE CHAIRMAN ALEX J. RAMON

| DATE: | MARCH 3, 1997 |
|-------|---------------|
|       |               |

| DISTRICT             | LEGISLATIVE<br>REPRESENTATIVES                 | # OF<br>VOTES | FOR     | AGAINST | NOT<br>VOTING | ABSENT |
|----------------------|--|---------------|---------|---------|---------------|--------|
| SIF OIDAK<br>160.0   | MARY ANN ANTONE     (Nellie Miguel)            | 80.0          | X       |         |               | X      |
|                      | 2. RITA MARTINEZ<br>(Maxine Norris)            | 80.0          | X       |         |               |        |
| SELLS<br>314.0       | 1. JOSEPH T. JOAQUIN<br>(Allen W. Garcia, Jr.) | 157.0         | Х       |         |               |        |
|                      | LUCILLE ENCINAS     (Cynthia Chico)            | 157.0         | x       |         |               |        |
| SCHUK TOAK           | 1. KENNETH J. ANTONE                           | 58.5          | Х       |         |               | X      |
| 117.0                | 2. JOSEPH JUAN                                 | 58.5          | X       | 2/      |               |        |
| SAN XAVIER           | 1. DENNIS RAMON                                | 71.0          | x       |         | ω.            |        |
| 142.0                | 2. TONY BURRELL                                | 71.0          | х       |         |               |        |
| BABOQUIVARI<br>257.0 | EDWARD KISTO     (Idella Stanley)              | 128.5         | x       |         |               | 162    |
| 257.0                | 2. FRANCES MIGUEL ( )                          | 128.5         | X       |         |               | X      |
| GU ACHI              | WILLARD ANITA     (Louis Johnson)              | 93.5          | X       |         |               | X      |
| 187.0                | 2. ALEX J. RAMON<br>(Marian Johnson)           | 93.5          | X       |         | Ŧ             | i.     |
| PISINEMO             | 1. JOHNSON JOSE<br>(Roseleen Antone)           | 67.5          | X       |         |               |        |
| 135.0                | 2.BARBARA SALVICIO                             | 67.5          | X       |         |               | *      |
| SAN LUCY             | 1. ALBERT MANUEL, JR.                          | 52.5          | X       |         |               |        |
| 105.0                | 2. JOHN RENO<br>(Mary Hoffman)                 | 52.5          | X       |         |               | X      |
| GU VO                | GLORIA MONTANA     ( )                         | 67.0          | X       |         |               |        |
| 134.0                | 2. FERN SALCIDO<br>(Larry Montana)             | 67.0          | х       |         |               |        |
| HICKIWAN             | 1. LLOYD FRANCISCO                             | 71.0          | x       |         |               | ,      |
| 142.0                | 2. ALEX JOSE                                   | 71.0          | X       |         |               |        |
| CHUKUT KUK           | 1. KENNETH WILLIAMS                            | 91.5          | X       |         |               | X      |
| 183.0                | 2. DAVID GARCIA<br>(Marvin Thomas)             | 91.5          | х       |         |               |        |
| TO                   | OTAL   | 1876.0        | 1,876.0 | -0-     | -0-           | [06]   |